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Where are all the orange Reese’s Pieces?

Reese loves orange Reese's pieces, but the last time she got a fun size bag there were
no orange! The bag was manufactured at a factory where 1,000 Reese’s Pieces are made

(40% orange) in each batch. To make a fun size bag, 10 Reese's pieces are randomly
chosen from a batch.,
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if this is not a binomial setting (use rules of probability). Show your work.

O = (Q“Q X_Sli_- x_.S_a—L::
e ) 000 a49a " qa, .00

3. Find the probability of gettin

]
e factory

g 0 orange Reese’s pieces in a group of 10 from the factory

if this were a binomial setting (use binomial formula). Show your work. D/. m{,
— +t 10 - W= e s
P(Nooangg)= C, * G, 00p0 \&%‘dﬂ%ﬂl &

pog -,
4. _How do your answers from #2 and #3 compare? Why do you think this is? N e
O \&adﬂm& WSC‘-N\QM 56
e \ (2§
To em%th t Reese ge s{;nc‘?reegnge Reese iec%ur}ga j{'}n?bo agdokéews ﬁ_

pieces which contains 600 Reese's pieces. Let X = number of orange Reese’s pieces in a bag
of 600 Reese’s pieces. Use a binomial distribution to model the situation.

5. What is the probability of getting at most 210 orange Reese's pieces?
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G.élf we were to make ; histogram of X, what do you think the shape would be?
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